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What do we calfthe money charged for the
insurance coverage ?

(a) Policy Lapse
(b) Morbidity Risk
(c) Premium

(d) Package Policy

The word “Hindu” with reference to the
People of India was first used by which
among the following ?

(a) Greeks
(b) Romans
(c) Afghans
(d) Arabs

In magnetic disks, data is organized on the
platter in a concentric sets or rings called

(a) Sector
(b) Track
(c) Head
(d) Block

Bar codes stores information using
(@) Punched holes

(b) Dots

(c) Thick and thin tines

(d) All of the above

Chabahar port is located in
(a) Bangladesh

(b) Iran

(c) lraq-

(d) Nepal
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On which of the following dates, the country
observed Police Commemoration Day ?
(a) October 5
(b) October 21
(c) October 24
(d) October 31

“National Consumer Rights Day” is
observed on which among the following ?

(a) 24t December
(b) 24th January
(c) 24th February
(d) 24th March

Who among the following decides on the
matter of disqualification of a Member of
Rajya Sabha ?

(a) Parliament of India by Resolution
(b) Election Commission of India
(c) President by advice of Parliament

(d) President by advice of Election
Commission

The salary of the Judge of High Court are
charged from which among the following ?

(@) Consolidated Fund of India
(b) Consolidated Fund of the State
(c) Contingency Fund of India
(d) Contingency Fund of State

Who is present Chief Election
Commissioner of India ?

(a) Om Prakash Rawat
(b) Sunil Arora

(c) Ashok Navasa

(d) R.S. Verma
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The number of Judges can be altered in
the Supreme Court by

(a) Presidential Order

(b) Parliament by Law

(c) Supreme Court by Notification

(d) Central Government by Notification

The revolutionary organisation ‘Abhinav
Bharat Society’ was founded in 1904 by

(@) Bhegat Singh

(b) Vinayak Damodar Savarkar
(c) Barindra Kumar Ghosh

(d) Pulin Behari Das

Who among the following great
revolutionaries was the brain behind the
“Chittagong Armoury Raid” ?

(a) Ganesh Ghosh

(b) Chandrashekhar Azad
(c) Surya Sen

(d) Lala Hardayal

Who founded the Ramakrishna Mission in

1896 to carry on humanitarian relief and
social work ?

(a) Ramakrishna Paramahansa
(b) Swami Dayananda Saraswati
(c) Swami Vivekananda

(d) Blavatsky and Olcott
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Srirangapatnam was the capital of
(a) Pazhassi Raja

(b) Tippu Sultan

(c) Kurumbranad Raja

(d) Srimoolam Tirunal

Which of the following performs modulation
and demodulation ?

(a) Satellite
(b) Modem
(c) Fiber optic
(d) Amplifier

Which among the following is the main
constituent of Biogas ?

(a) Methane
(b) Propane
(c) Butane
(d) Ethane

Which among the following is an example
of a Chemical change ?

(@) Rusting of iron
(b) Magnetization of iron
(c) Melting of iron
(d) Heating of iron

Speed of sound is maximum in which
among the following ?

(a) Solids
(b) Liquids
(c) Gases
(d) Vacuum
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wWho among the follom{ing Fiecides that
there should be 2 Legislative Council in

the State or not ?

(a) President

(b) Governor

(c) Legislative Assembly

(d) Chief Minister

The setting up of which of the following is
NOT mentioned in Constitution ?

(a) Finance Commission

(b) Lok Sabha Secretariat

(c) Election Commission

(d) National Human Rights Commission

“Socialist” was implicit in the Constitution,
but made explicit by

(a) 38th Amendment Act
(b) 42" Amendment Act
(c) 44" Amendment Act
(d) 50 Amendment Act

Alamatti Dam is located in which of the
following State ?

(@) Andhra Pradesh
(b) Karnataka

(c) Kerala

(d) Tamil Nadu

Indira Col makes the 3-point boundary
between which of the following countries ?

(@) India, Nepal, China
(b) India, Pakistan, China
(¢) India, Myanmar, China
(d) India, Bhutan, China
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Arrange the following events in the order
of their chronology :
1. August Offer
2. Poona Pact
3. Third Round Table Conference
Choose the correct option :
(@) 1-2-3
(b) 2-3-1
(c) 2-1-3
(d) 3—-2-1

Which of the following statements is correct
regarding the Election Commission of India ?

(a) Itis anindependent and statutory body

(b) Itconsists of members having a tenure
of six years

(c) It acts as a Court for arbitration of
disputes related to granting of
recognition to political parties

(d) Being an all-India body, it is also
concerned with the elections to
Gram Panchayats and State
Municipalities

The famous ‘Angkor Vat' temple is situated
in which of the following South-East Asian
country ?

(@) Thailand

~ (b) Philippines

(c) Cambodia
(d) Vietnam
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For which of the following ores, Baba Budan
Hills in South India are famous ?

(a) Iron

(b) Aluminum
(c) Silver

(d) Zinc

Which among the following was _the only
session in which Mahatma Gandhi elected

as Congress President ?
(a) Lucknow

(b) Belgaum

(c) Mumbai

(d) Karachi

The famous Lalbagh Garden of the
Bangalore was commissioned by which
of the following rulers ?

(a) Hyder Ali

(b) Tippu Sultan

(c) Krishnaraja Wodeyar llI
(d) Krishnaraja Wodeyar I

For his major role in the development of
computer chip ‘Pentium’, which Indian IT
expert is called the ‘Father of Pentium’ ?

(a) Ajay Bhatt

(b) Anand Chandrasekhar
(c) Vinod Dham

(d) Biswamohan Pan

Who is the founder of “Wikipedia” ?
(a) Peer Schneider

(b) Byron Looper

(c) Rickard Eriksson

(d) Jimmy Wales
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Which of the following rivers does NOT flow
into the Arabian Sea ?
(a) Tungabhadra
(b) Sabarmati
(c) Mandovi
(d) Narmada

Which among the following.is NOT a
hereditary disease ?

(a) Thalassemia

(b) Colour Blindness
(c) Haemophilia

(d) Leukemia

Human Papilloma Virus is related to which
of the following diseases ?

(a) Prostate Cancer
(b) Cervical Cancer
(c) Lymphatic Filariasis
(d) Leukemia

Who planted the ‘Tree of Liberty’ at
Srirangapatnam ?

(a) Hyder Ali

(b) Tippu Sultan

(¢) Chin Quilich Khan
(d) Murshid Quli Khan

Who among the following was popularly
known as the ‘Frontier Gandhi’ ?

(a) Hasrat Mohani

(b) Maulana Abul Kalam Azad
(c) Khan Abdul Ghaffar Khan
(d) Igbal Khan

>,
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Which of the following is a prime UMb,
(a) 33
(b) 81
(c) 93
d) 97

Which one of the following numbers is
exactly divisible by 117

(a) 235641
(b) 245642
(c) 315624
(d) 415624

The average monthly income of P andQ
is Rs. 5,050. The average monthly income
of Q and R is Rs. 6,250 and the averag
monthly income of P and R is Rs. 5,200,
The monthly income of P is

(a) Rs. 3,500
(b) Rs. 4,000
(c) Rs. 4,050
(d) Rs. 5,000

Find the odd man out.
3,5,11,14,17, 21
(@) 21

(b) 17

(c) 14

(d) 3

Find odd one out in following series :
10, 25, 45, 54, 60, 75, 80

(a) 10
(b) 45
(c) 54
(d) 75
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Which among the following is NOT a
search engine ?
(a) Google
(b) Baidu
(c) Wolfram Alfa
(d) Yahoo

What do we call a storage device where
the access time is effectively independent
of the location of the data ?

(a) Direct Access Storage Device
(b) Secondary Storage Device
(c) Primary Storage Device

(d) Gateway Device

Now a days “Vishing” has become a
criminal practice of using social engineering
over which of the following ?

(a) Social networking sites
(b) Mobile phones
(c) E-mails

(d) Cyber cafés

What is HTTP 404 ?

(a) An error message indicating server not
found

(b) An error message indicating moved
. permanently

(c) An error message indicating forbidden

(d) An error message 'mdicating server
found
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world's tallest and longest steg| ry;
;:}gge is being .constructed in Jammy apq

Kashmir over river
(a) Indus

(b) Jhelum

(c) Chenab

(d) Nubra

‘Amalgam’ is a term used for an alloy of 5
metal with

(a) Copper

(b) Mercury
(c) Lead

(d) Aluminium

‘Penicillin’ which is used as an antibiotic is
obtained from

(a) Bacteria
(b) Fungi
(c) Algae
(d) Lichens

The resolution for removing the
Vice-President of India can be moved in

(a) Lok Sabha only
(b) Rajya Sabha only

(c) Either of the two houses of the
Parliament

(d) Joint Sitting of the two houses of the
Parliament

Which of the following Schedules of the
Congtﬂutton of India has to be amended 0
provide for the formation of a new State ?

(a) First Schedule
(b) Second Schedule
(¢) Third Schedule
(d) Ninth Schedule
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What will be the day of the week on 15"
August, 2010 ?
(a) Sunday
(b) Monday
(c) Tuesday
(d) Friday

Which of the following is NOT a leap year ?
(a) 700
(b) 800
(c) 1200
(d) 2000

The square root of 64009 is
(a) 253
(b) 347
(c) 363
(d) 803

Which Viceroy passed the Vemacular
Press Act and the Arms Act of 1878 ?

(a) Lord Lytton
(b) Lord Mayo
(c) Lord Dalhousie
(d) Lord Hardinge

The Vice-President of India is
(a) Nominated by the President

(b) Elected by the members of Rajya
Sabha

(c) Elected by the members of an electoral
college consisting of members of both
Houses of Parliament

(d) None of the above
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57.

58.

59.

61.

D0 O

Which of the following transforms inputdata
into output data ?

(a) Peripherals
(b) RAM
(c) ROM
(d) CPU

The performance of a hard drive or other
storage device, meaning how long it takes
to locate a file is called

(a) Response time
(b) Access time

(c) Quick time

(d) None of the above

How many number of red balls are in
Snooker ?

(a) 13
(b) 15
(c) 17
(d) 20

“Vishwanathan Anand" is a player of which
among the following sports/games ?

(a) Cricket
(b) Carom
(c) Chess
(d) Tennis

Who among the following was known as
‘Flying Sikh' ?

(a) Milkha Singh
(b) Harbhajan Singh
(¢) Yuvaraj Singh
(d) Gurbachan Singh
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Sultan Azlan Shah Cup is related to which
among the following Sports ?

(a) Badminton
(b) Hockey

(c) Table Tennis
(d) Golf

Which Indian mass movement began
with the famous ‘Dandi March’ of
Mahatma Gandhi ?

(@) Khilafat Movement

(b) Non-Cooperation Movement
(c) Civil Disobedience Movement
(d) Quit India Movement

The famous ‘Hornbill festival’ is celebrated
in which of the following States of India ?

(a) Nagaland
(b) Mizoram
(c) Assam

(d) Meghalaya

The famous hill-station ‘Kodaikanal’ lies in
(a) Nilgiri hills

(b) Palani hills

(c) Cardamom hills

(d) Javadi hills

Which of the following mountain passes
forms the ‘tri-junction’ of India, China and
Myanmar ?

(a) NathuLa
(b) Jelep La
(c) BomdilLa
(d) Diphu
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70.

1

Provisions of Indian

rgenc
T peen borrowed from

Constitution have
(a) Germany
(b) Japan

(c) USSR

(d) US.A.

The Second Schedule of Indian Constitution
contains provisions for the salary of

(a) Speaker of Lok Sabha
(b) President

(c) Governors

(d) Al of the above

Which of the following is a biodiversity
hotspot in India ?

(a) Eastern Himalayas
(b) Eastern Ghats

(c) Western Rajasthan
(d) None of the above

Which of the following is NOT a primary

greenhouse gas found in earth’s
atmosphere ?

(a) Carbon dioxide

(b) Methane

(c) Water vapour

(d) Nitrogen oxides (NOx)

Whigh of the following is NOT a traditional
Rabi crop in India ?

(@) Chick pea
(b) Mustard
(c) Pigeon Pea
(d) Wheat
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In which of the following place of Karnataka
one cannot find Bahubali Statue ?

(a) Dharmastala

(b) Shravanabelagola
(c) Karkala

(d) Udupi

Which among the following is the highest
point in Karnataka ?

(a) Nandhi Hills

(b) Mullayyanagiri

(c) Biligiri

(d) Male Madeshwara Hills

Which among the following place in
Karnataka is the present location of
capital of Vijayanagar Empire ?

(a) Hampi
(b) Kulyadi
(c) Kottigehara
(d) Thokur

Total Number of Districts in Karnataka
(@) 29
(b) 32
(c) 30
(d) 26

Doddaballapura is famous for which of the
following industries ?

(a) Steel
(b) Plastic
(c) Fruit
(d) Silk
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78.

79.

The silver coin which was introduced by
Sher Shah and continued by the Mughals

was
(a) Rupaya
(b) Dinar
(c) Asharfi
(d) Muha

Legislature of the Union which is called
‘Parliament’ consists of

(a) Rajya Sabha
(b) Lok Sabha
(c) Rajya Sabha and Lok Sabha

(d) President, Rajya Sabha and Lok
Sabha

President can proclaim National
Emergency under Article 352 in the entire
country or in any part of it, on the
grounds of

(a) External Aggression
(b) Armed Rebellion
(c) Internal Disturbance
(d) Both (a) and (b)

An electrical fuse is used to interrupt
excessive

(a) Voltage
(b) Current
(c) Resistance

(d) Inductance
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India is the biggest producer, as well as
the largest consumer and importer of which
of the following crops ?

(a) Wheat
(b) Cotton
(c) Sugarcane
(d) Pulses

Which of the following is NOT a land locked
country of Europe ?

(a) Hungary

(b) Kosovo

(c) Czech Republic
(d) Spain

The northernmost point of India is
known as

(a) Indira Heights

(b) Indira Col

(c) Indira Point

(d) None of the above

With which of the following countries of
South East Asia, India shares a maritime
boundary ?

(a) Indonesia
(b) Malaysia
(c) Singapore
(d) Vietnam

Which of the following is the longest river
that originates in India ?

(a) Brahmaputra
(b) Ganga

(c) Yamuna

(d) Godavari
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Which among the following is a Beyond-
visual-range air-to-air missile ?

(a) Agni
(b) Prithvi
(c) Astra
(d) Nag

Which among the following temperature
scale is based upon absolute zero ?

(a) Celsius
(b) Fahrenheit
(c) Kelvin

(d). Rankine

Which among the following is the science
dealing with Colors ?

(a) Optics

(b) Chromatics
(c) Ophthalmology
(d) Otology

A transition from the solid to gas phase with
no intermediate liquid stage is called

(a) Evaporation
(b) Sublimation
(c) Adsorption
(d) Solid phase extraction

National Road Safety Week is observed
in which month ?

(a) January
(b) February
(c) May
(d) April
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Which among the following river does NOT
flow from east to west ?

(a) Tapti

(b) Narmada
(c) Krishna
(d) Mahi

The “Helmand Province” of Afghanistan is
famous for cultivation of

(a) Tobacco
(b) Opium
(c) Wheat
(d) Cotton

Who among the following can dismiss
Governor of a State from his office ?

(a) State Legislative Assembly
(b) Parliament

(c) President

(d) None of them

A member of a State Public Service
Commission can be appointed and
removed respectively by

(a) Governor, Governor
(b) Governor, President
(c) President, Governor
(d) President, President

How long a person should have practiced
in a High Court to be eligible to be appointed
as a Judge of Supreme Court of India ?

(a) 10 years
(b) 15 years
(c) 12 years
(d) 5 years
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